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2�����$��������������.����ρ ≤ �0/�K��⋅L�����3�8�/00�:'����
���&���������.������������������%����������������������)
����$����3'�%����������(���������.����& ������ ��$����� 
����� ����� ���������� ���� 2ρ� ≅� �0*��0�0�K��⋅L�� ��
3 8 /00 :3'�����������&���������.������������������%������ 
����������$���������$�����������$��������2�������������� 
����������� *

DN �F��� ����9��F�03�6�����%�����'�����������&
��������.�����������!"�!#����������������%������������
���$���������$�����������$�����$�����2������$����%��'���
�������������������� *
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��������������������!����������������������$�������2�� 
��$�������������������%���������������%����������3����
��������������%�������������%�������������������%����
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���������������������!"�!#���������������$��������2����
������������������������3�8�*	+�:�$��&�$��������������
���������%�����������%������������������%������!������
 023� ��� $����%��� ��� �)�� �����	�#��� ������ ���� �� ��� ��
�!��������$�����������!"�!#�����������������$����������
���������%�������������%������������������%����� 02'
902�����������!�������2������%���.��	�#���'��%.���������
���4!"�!#�����������$��2& '�� 3������.�����������&���� 
�����.���'�������������������������������������������%���
��������%������������������%������!������� 02	�#������ 
�����������������������������$��������4!"�!#�'���������'
�������������� �FF��9�����������������2��)���������.����< ��$�
����!"�!#��������(���������.����< ����� ���$������!"�!#�
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����	�#���'���������!��������$����������4!"�!#���������� 
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��������������������ε ≤ 
13	�4�����������'�����$��&�$��� 
�������������������������������%������ν�������������� )����
=�����(�.���%�����������)��(�����������2�.�������'������� 
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1�3�

�ν��8�#5' =�8 0	��
1' 2��3

�������������%���������������%��)�����������������������
��������(�����(�'��	�	�����������!������%�����(�����(��ε>
2ε>�≈��0���5�������#������"�#��6+'��0'�+/'�+�73'��!�����
��%����������������.���(��&�����������(������������������
������2ε>�FF�
1�'�����'��.�������'�ε>�FF��ν � #5�������
���������(������������������������������3�B�����A	�2�	�*3���
6+=7C'����

��ν��8�#5�>� ,
2

1
kT =�8��	��
1' 2�+3

����������������%��)���������������������������$����������
�%����'��	�	������!������%�����(�����(�����������������
����������.���(��&�����������(����������%����(����������
����������2ε>�EE�
1�'�����'��%.������'�ε>�EE��ν���#5���
�������������(������������������������������3�B�����A	2�	�*3
���6+=7���������������������6�+'�/07C	

#��������'������������������������ ��� 6+=7'��A	� 2��3
�������%�����������������)����$���������2�
1�EE�ε>�'�����
�������(������������������������ �����$������!����3'����
�A	 2�+3�����$$����%��������(�����$���������2�
1�FF�ε>�'
�������� ����������(���������������������������.��.�����
�����%�������������������3	
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��$����)��&����!���������4!"�!#�����/00�,�6�.�������'
�ν� 8 #5 > 2�?+3
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�ν��8�2�	
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���%���������������6�����A	�2�*3�����-�(	�17�

�ν��8�2�	
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�.�������'���$�����������.�������/00�,� mhν �.�	�0��� 
$����������6�����A��2�
3'�2�13�����-�(	�17����������%����
���� ���� ����A�� 2�
3� ���� 2�13� ���� �������������� ��
���40"�0#������$��������)������������$��%�����������	
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�!$������������A��2�
3�����2�13��ν��.�	�0���$����������
�%���.����������$���������������������6*7���������.�������������
����/00�,�$��&�$����������������������������������������
%��%��� �� %���������������'�������40"�0#������$��� 
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G���������������$$�������������������(������������
�����!$���������� mhν �.�	�8����$�����������6�����A��2�
3�
2��3�����-�(	�17���������������������$��������	�@�����
���������%����������)��6������������ mhν �.�	�8���$����� 
�����(�.���%���A��2�
3�����2��3'�����)�������!$���������

mhν �.���������������������������������������������������0'
����-�(	�1'����.���������/7	

#��������������6*7������������������������� %��� ��(�
�������������%��������������/00 ,��������%��� �� %���
���������������������������������������	�;�����������)�%� 
���.���2���'� �����!��$��� 6�+'��/'�+/73� �����/00�,����� 
%��� ��(���������������������4!"�!#��2�����������P���'
����6/073'�������������������������������������������������
�����%�������'�%���������������������!������������������	
#���������!������������%�������������������(�'��������$��&
$����������� �������� %��� ��(�� �������������%������
/00 ,����������(��������������������)�����(����(����2���
�!��$��'�����ν��8��	
0��	
0* �5����0 8 0�6�+'/�73	�@%.� 
�����'���������������������!������������%��������������� 
%��� ��(������������������/00�,��������%����&�������
�������'��������)���������������������������%���/00�,��ν�
.�	�8�����%���������$������������������������(�"����� 
�����������4!"�!#��	
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:��� �ν�6 �27� ���� 8� ��)
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-�������������
�
������#���*	+�:��ν�2 023�.�	�8����� 
%��������A	�2�3���������!"�!#���������������%����A��������
����������������(���(������(������&��)���!$���������
$������2����-�(	�+3�6�7	�;������������%���.�������������% 
�����������������������������!$����������$��������������
����%������� ���.�� 6��� ��� �����!�������� ��)�0�.�����
20 ≤ 0	+37� 2����-�(	�+3	�4�� ������������$��%�%������������
���������������������%�������������������ν�2 023�����0�
�������������B�������������������������������ν�2 023
��������������������!�����Q0	
���5���������0����� 
�������� �Q�R� 6/7C	�;������� ����'� �����%���.��� ������
�����(�����������������!$������������������������������ν�
$��������������ν��.�	�0���$�������������)�0�.������20 ≤ 0	+3
�������%������������)��������$����%������4!"�!#�����$� 
������������ �����������∆0�2��������∆0?0�8�0	0/�0	�
'
����6�/'�++'�+/73'��	�	������������(�.���������������������� 
%�������������������������� ����������������ν���!$��� 
�����������������������$�����'����������4!"�!#�����������
��)���������������������20	*1/0�EE�0	/++'��	�	�0�EE�0	�3
����$$��!������������������������%��)�����ν������0��������
�ν��≈� 2�	
=0�>0	/++03� �5� 6�����A	2�37� 2�.�������'� ��� �
�������������������������%��)�����ν������0���&���$����'
�	�	��ν� 8�
�>�:0'�)�����
'�:�≠�ϕ203'�������������������� 
�������$������������� �����������%���(�����������%�����
���������������������� ����������������ν���!$���������
����������������$�����3	�H����%�����'����������������� 
���%������������4!"�!#������$������������� ����������
������������������������ν���!$�������������������������
$��������������ν��.�	�8���$�����������$����%�������������(�
0 .������20�≥�0	/'������0	//+�≈�0	*1/03������������������ν�
��$�������� �������������0�6�����A	�2�37	

S����$��%�%��'������������������������������!$������ 
��������������������$��������������ν�2 023�.�	�8���$��� 
�������������������)���������$���������������%���$��$�� 
�����������4!"�!#�������'�)��������������������ν�2 023
.����������(�.���0�2�����������'��������%��������/	+�%���)3	
@%.������'�����$����������������������������������������
�%�������0 .������%�������!��������������������������	
#����������������������������������Q+0R�����0�8�0	0/�0	�'
Q
��0�R�����0	+�≥�0�F�0	�'�+ � 
R�����0	
�≥�0�F�0	+�������
+�R�����0	=
 ≥ 0 F 0	
���������)���������������������!� 
������������-�(	�+�2)��������������(�������������������)
0 .�����'�)������������&��������������������!$���������
$������ν��≅��	����5����0�≈�0	��3	

-�,�����������
�����������4����������������'��)������� 
������������������ν�2 023�.�	�8���$�������������3�8�*	+ :
�������4!"�!#����!������������������%��������2�����������
�%.�����%����� ����$��������(�������$���������.����� 
�����3	�#��������2�����������������������%��)��������
�!���������������%����������������������������ν������0
������������'�����-�(	��3�

�ν���8�2�	
=��>�0	+*�8�>�0	
*+8+3��5 2��3

��������(����6+7�2����-�(	��3�6����������%������������!$������ 
����$�����7'����

*�+��6���������������/00�,�$��&�$��������������� �������������%���

������� %�� %��� �� %���� ������������ ��� ����� ���������� ���� �����

�ν�� �������0"�0#��.������"���������������	�#���/00�,��ν��.�	�0

��$���������� ���� ������������ ��������(��� ����A�� 2�
3� 2(3'� 2�13

2�3� ���� 2��3� 2�3	�-��� ���.�������'� �!$�����������ν�� .�	�0�$�����

���� ����� ���)�	�#��� �!$���������� �ν�� .������ ���� $��������� ����� 
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